


©White Rose Maths



©White Rose Maths

•

•

•

𝑎𝑏 𝑎 × 𝑏
3𝑦 𝑦 + 𝑦 + 𝑦 3 × 𝑦
𝑎2 𝑎 × 𝑎
𝑎𝑏 𝑎 × 𝑏
𝑎

𝑏
𝑎 ÷ 𝑏
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2𝑥 + 5



+/−

×/÷

≡
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6 + 3 = 9 12 + 9 = 3 × 7

8 = 5 + 3 8 ÷ 0.2 = 80 ÷ 2

5 + 6 = 8 + 3 6700 − 67 = 99 × 67

312 + 99 = 312 + 100 − 1

12 = 3 + 9,  4 × 3 = 7 + 1 + 4

7 + 8 = 10 + ? 9 + ?= 20 − 6

12 × 5 = ? +50 ? ÷ 2 = 60 ÷ 4

3 3 3 3

7 1 4

4 4 4

3 9
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7 + 3 = 10
7 = 10 − 3

67.3 − 11.6 = 55.7
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𝑥 + 3 = 8

+/−

𝑥 + 37 = 61

𝑥

𝑡

𝑎 + 47 = 93 38 = 5.6 + 𝑏 36 = 𝑐 − 102

4.8 + 𝑑 = 11 91 = 53 + 𝑒 70 − 𝑓 = 11.4

74

123

𝑡
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𝑎𝑥 = 𝑏.

×/÷

3𝑥 = 192 192 = 3𝑦

𝑔

𝑦

𝑎

23
= 9 46 =

𝑏

11
187 = 5𝑐 12𝑑 = 3

𝑔 𝑔 𝑔 𝑔

68.2
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5𝑎, 6𝑎

10𝑡,−3𝑡

2𝑥𝑦, 4𝑥𝑦

10.−7

3𝑎2, 7𝑎2

3𝑥 3𝑥2

𝑑 −7𝑑

3 3𝑎 −3𝑏2 −3𝑎

𝑎2 −3 6𝑎 −6

6𝑏2 6 −6𝑎 12𝑏

3𝑥𝑦 6𝑦𝑥

5𝑎, 5𝑏

−10𝑡, −3

2𝑥𝑦, 4𝑥𝑧

10, 7𝑎

3𝑎2, 7𝑏2
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2𝑥 𝑥2

5𝑝

6𝑚 2𝑚 + 4𝑚
𝑚

6
10𝑚 − 4𝑚

2𝑚 × 3 𝑚 + 6 30𝑚 ÷ 5 4𝑚 −𝑚 + 3𝑚

𝑚

𝑦.

2𝑦 + 10 2(𝑦 + 5)

𝑥 = 7

5𝑥 2𝑥 8𝑥 − 3𝑥 𝑥 + 𝑥

2 + 4𝑥 3𝑥 + 2𝑥 6𝑥 − 𝑥 4𝑥 + 2

𝑥.
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3𝑥 + 2𝑥 ≡ 5𝑥

3𝑥 + 2𝑥 = 5𝑥

𝑥,

𝑥

≡

≡

7𝑎 + 2𝑎 3𝑎 + 4𝑎 + 5𝑎 10𝑏 − 3𝑏 + 5𝑏

6𝑥2 + 5𝑥2 2𝑎𝑏 + 6𝑎𝑏 − 3𝑎𝑏 10 + 6 − 3

5𝑥 + 3𝑥 ≡ 8𝑥2 10𝑦 − 3𝑦 ≡ 13𝑦 9𝑝 + 4𝑝 = 94𝑝

6𝑥 + 2𝑥 ≡ 8𝑥 6𝑥 − 2𝑥 ≡ 4𝑥 2𝑥 ≡ 8𝑥 ÷ 4

3𝑥 + 2 ≡ 5𝑥 3𝑥 + 2𝑦 ≡ 5𝑥𝑦 𝑥 + 2 ≡ 2 + 𝑥

5𝑥 − 5 ≡ 𝑥 10𝑥 ≡ 5𝑥 × 2

3𝑎 + 4 + 5𝑎 6𝑏 + 2𝑐 − 2𝑏 + 6𝑐 5𝑑 + 3𝑒 + 2𝑑 − 3𝑒

8𝑥 + 10𝑦


